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QUESTION 1

Which two options does Cisco PfR use to control the entrance link selection with inbound optimization? (Choose two.) 

A. Prepend extra AS hops to the BGP prefix. 

B. Advertise more specific BGP prefixes (longer mask). 

C. Add (prepend) one or more communities to the prefix that is advertised by BGP. 

D. Have BGP dampen the prefix. 

Correct Answer: AC 

 

QUESTION 2

Drag the DSCP values on the left to the correct classes on the right. Not all DSCP values will be used. 

Select and Place: 

Correct Answer:  
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QUESTION 3

Refer to the exhibit. Which statement is correct? 

A. The priority of both OSPF border routers is 128. 

B. Both routers are border routers for areas 128 and 0. 

C. The OSPF cost to both border routers is 128. 

D. The age of both border routers is 128. 

Correct Answer: C 

 

QUESTION 4

Refer to the exhibit. A GRE tunnel between R1 and R2 has been configured over an Internet connection. As soon as
traffic is sent over the tunnel, high CPU utilization is observed on R1. Reducing the traffic shows a reduction in CPU
utilization. 

What could be a possible cause for the high CPU utilization? 
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A. The BGP process is processing the complete Internet routing table. 

B. An MTU issue causes GRE packets to be fragmented. 

C. A GRE-based DDoS attack is overloading the router control plane. 

D. All GRE packets are always process switched. 

Correct Answer: B 

 

 

QUESTION 5

Which two EIGRP options will limit a query domain? (Choose two.) 

A. configuring EIGRP stubs 

B. configuring a second EIGRP AS and redistributing 

C. configuring summary addresses 

D. configuring an offset-list 

E. configuring a prefix-list 

F. configuring unicast neighbors 

Correct Answer: AC 

 

QUESTION 6

Refer to the exhibit. Which IGMPv2 message is displayed in the output of the packet capture? 
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A. General Query 

B. Membership Report 

C. Membership Query 

D. Membership Delay 

Correct Answer: B 

 

QUESTION 7

Which description of the following is true according to the information shown in the figure? 
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A. RTC will not have the 192.168.10.0 network in its routing table. 

B. RTC will not have the 10.0.0.0 network in its routing table. 

C. RTB will not have the 10.0.0.0 network in its routing table. 

D. RTB and RTC will not have the 10.0.0.0 network in their routing tables. 

Correct Answer: B 

 

QUESTION 8

Where should frame-relay traffic shaping be applied? 

A. on the physical interface 

B. on the subinterface 

C. under the frame-relay map class 

D. on any of the above 

Correct Answer: A 

 

QUESTION 9

What protocol provides a mechanism to tranparently intercepts and redirects CIFS traffic from a client to a local Cisco
Wida Area Application engine? 
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A. File Transport Protocol (FTP) 

B. Hot Standby Routing Protocol (HSRP) 

C. Virtual Router Redundancy Protocol (VRRP) 

D. Web Cache Communication Protocol (WCCP) 

Correct Answer: D 

 

 

QUESTION 10

Refer to the exhibit. 

How will traffic be split between the routers, assuming that there are many hosts on this subnet? 

A. All traffic will be sent to the primary router (10.1.1.100). 

B. Traffic will be split equally between the two routers (10.1.1.100 and 10.1.1.101). 

C. Traffic will be split 25% (10.1.1.101) / 75% (10.1.1.100) between the two routers. 

D. Traffic will be split 75% (10.1.1.101) / 25% (10.1.1.100) between the two routers. 

Correct Answer: D 
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QUESTION 11

Refer to the exhibit. Which of these is applied to the Bearer class? 

A. wred 

B. traffic shaping 

C. packet marking 

D. packet classification 

E. FIFO queuing within the class 

Correct Answer: E 

 

QUESTION 12

Refer to the exhibit. 

350-001 VCE Dumps | 350-001 Study Guide | 350-001 Exam Questions                              8 / 11

https://www.passapply.com/350-001.html
https://www.passapply.com/350-001.html
https://www.passapply.com/350-001.html


https://www.passapply.com/350-001.html
2021 Latest passapply 350-001 PDF and VCE dumps Download

While troubleshooting performance issues on your network, you notice that CPU utilization on your Layer 3 Internet
switch is very high. What can be done to solve this issue? 

A. Use an SVI instead of a routed port to connect to the Internet router. 

B. This is a capacity issue. Replace the switch with a high-performance Layer 3 switch. 

C. Point the default static route to an IP address instead of a physical interface. 

D. Configure CoPP on the Layer 3 switch. 

Correct Answer: C 
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